

## SOME CLASSES OF STARLIKE FUNCTIONS

BY

KHALIDA INAYAT NOOR

**Abstract.** A well-known convolution operator  $L(a, c)f = \phi(a, c) * f$ , where  $f$  is analytic in the unit disc  $E$  and  $\phi(a, c)$  is an incomplete beta function, is used to define the class  $S^*(a, c)$ . An analytic function  $f \in S^*(a, c)$  if  $L(a, c)f$  is starlike in  $E$ . Coefficient result, a covering theorem and an inclusion relation is proved. It is also shown that this class is closed under convolution with convex function and an application of this result is given. We also discuss some radii problems for functions

$$f : f(z) = z + \sum_{k=n+1}^{\infty} a_k z^k, \quad n = 1, 2, 3, \dots \text{ which are starlike in } E.$$

### 1. Introduction

Let  $A(n)$  denote the class of functions  $f$  of the form

$$f(z) = z + \sum_{k=n+1}^{\infty} a_k z^k, \quad n \in N = \{1, 2, 3, \dots\} \quad (1.1)$$

and analytic in the unit disk  $E = \{z : |z| < 1\}$ .

Let  $P_n(\alpha)$  be the class of functions  $p$  of the form

$$p(z) = 1 + c_n z^n + c_{n+1} z^{n+1} + \dots \quad (1.2)$$

which are analytic in  $E$  and satisfy  $\operatorname{Re} p(z) > \alpha$ , for some  $\alpha, 0 \leq \alpha < 1$  and for all  $z \in E$ .

---

Received February 14, 1996; revised May 22, 1996.

AMS Subject Classification. 30C45.

*Keywords*▷ convolution, convex, starlike, univalent, integral operator.

A function  $f \in A(n)$  is said to be starlike of order  $\alpha$  if and only if  $\frac{zf'(z)}{f(z)} \in P_n(\alpha)$  for some  $\alpha (0 \leq \alpha < 1)$ , and for all  $z \in E$ . We denote this class as  $S^*(n, \alpha)$ . Similarly  $f \in A(n)$  is called a convex function of order  $\alpha$  if and only if  $\frac{(zf'(z))'}{f'(z)} \in P_n(\alpha)$ . We denote this class as  $C(n, \alpha)$ . Clearly  $f \in S^*(n, \alpha)$  if and only if  $zf' \in C(n, \alpha)$ .

Let  $A(1)$  be the class of analytic functions  $f$  defined on the unit disc  $E = \{z : |z| < 1\}$ , normalized by  $f(0) = 0$  and  $f'(0) = 1$ . The class  $A$  is closed under the Hadamard product or convolution

$$(f * g)(z) = \sum_{n=0}^{\infty} a_n b_n z^{n+1},$$

where

$$f(z) = \sum_{n=0}^{\infty} a_n z^{n+1}, \quad g(z) = \sum_{n=0}^{\infty} b_n z^n.$$

In particular, we consider convolution with the function  $\phi(a, c)$  defined by

$$\phi(a, c, z) = \sum_{n=0}^{\infty} \frac{(a)_n}{(c)_n} z^{n+1}, \quad z \in E, \quad c \neq 0, -1, -2, \dots,$$

where

$$(a)_n = \frac{\Gamma(a+n)}{\Gamma(a)},$$

i.e.

$$(a)_0 = 1, \quad (a)_n = a(a+1) \cdots (a+n-1), \quad n > 1.$$

The function  $\phi(a, c)$  is an incomplete beta function, related to the Gauss hypergeometric function, defined by

$$\phi(a, c, z) = z {}_2F_1(1, a; c, z).$$

It has an analytic continuation to the  $z$ -plane cut along the positive real line from 1 to  $\infty$ . We note that

$$\phi(a, 1, z) = \frac{z}{(1-z)^a}$$

and  $\phi(2, 1, z)$  is the Koebe function. Carlson and Shaffer [3] defined a convolution operator on  $A$  involving an incomplete beta function as

$$L(a, c)f = \phi(a, c) * f, \quad f \in A.$$

If  $a = 0, -1, -2, \dots$ , then  $L(a, c)f$  is a polynomial. If  $a \neq 0, -1, -2, \dots$ , then application of the root test shows that the infinite series for  $L(a, c)f$  has the same radius of convergence as that for  $f$  because

$$\lim_{n \rightarrow \infty} \left| \frac{(a)_n}{(c)_n} \right|^{\frac{1}{n}} = 1.$$

Hence  $L(a, c)$  maps  $A$  into itself. The Ruscheweyh derivatives of  $f$  are  $L(n + 1, 1)f$ ,  $n = 0, 1, 2, \dots$ .  $L(a, a)$  is the identity and if  $a \neq 0, -1, -2, \dots$ , then  $L(a, c)$  has a continuous inverse  $L(c, a)$  and is a 1-1 mapping of  $A$  onto itself.  $L(a, c)$  provides a convenient representation of differentiation and integration. If  $g(z) = zf'(z)$ , then  $g = L(2, 1)f$  and  $f = L(1, 2)g$ .

We now define the following.

**Definition 1.1.** Let  $f \in A(1)$ . Then,  $f \in S^*(a, c)$  if and only if  $L(a, c)f \in s^*(1, 0)$  is starlike in  $E$ .

## 2. Preliminary Results

**Lemma 2.1.** ([8]) If  $c \neq 0$ ,  $a$  and  $c$  are real and satisfy  $a > N(c)$ , where

$$N(c) = \begin{cases} |c| + \frac{1}{2}, & \text{if } |c| \geq \frac{1}{3} \\ \frac{3c^2}{2} + \frac{2}{3}, & \text{if } |c| \leq \frac{1}{3} \end{cases} \quad (2.1)$$

then  $\phi(c, a, z)$  is convex in  $E$ .

**Lemma 2.2.** ([11]) Let  $\psi$  be convex and  $g$  be starlike in  $E$ . Then, for  $F$  analytic in  $E$  with  $F(0) = 1$ ,  $\frac{\psi * Fg}{\psi * g}$  is contained in the convex hull of  $F(E)$ .

**Lemma 2.3.** ([7]) Let  $u$  and  $v$  denote complex variables  $u = u_1 + iu_2$ ,  $v = v_1 + iv_2$  and let  $\Phi(u, v)$  be a complex-valued function that satisfies the following conditions:

- (i)  $\Phi(u, v)$  is continuous in a domain  $D \subset \mathbb{C}^2$ .
- (ii)  $(1, 0) \in D$  and  $\Phi(1, 0) > 0$ .
- (iii)  $\operatorname{Re}\{\Phi(iu_2, v_1)\} \leq 0$  whenever  $(iu_2, v_1) \in D$  and  $v_1 \leq -\frac{1}{2}(1 + u_2^2)$ .

If  $P(z) = 1 + b_1z + b_2z^2 + \dots$  is a function that is analytic in  $E$  such that  $(p(z), zp'(z)) \in D$  and  $\operatorname{Re}\{\Phi(p(z), zp'(z))\} > 0$  holds for all  $z \in E$ , then  $\operatorname{Re}p(z) > 0$  in  $E$ .

**Lemma 2.4.** *Let  $p \in P_n(0)$ . Then, for  $z \in E$ ,*

$$(i) \quad \frac{1-r^n}{1+r^n} \leq \operatorname{Re}p(z) \leq |p(z)| \leq \frac{1+r^n}{1-r^n}$$

$$(ii) \quad |zp'(z)| \leq \frac{2nr^n \operatorname{Re}p(z)}{1-r^{2n}}$$

$$(iii) \quad \left| \frac{zp'(z)}{p(z)} \right| \leq \frac{2nr^n}{1-r^{2n}}.$$

For (i) we refer to [13], (ii) may be found in [2] and for (iii) see [6].

**Lemma 2.5.** *Let  $g \in S^*(n, 0)$ . Then*

$$\operatorname{Re} \frac{(zg'(z))'}{g'(z)} \geq \frac{1-2(n+1)r^n+r^{2n}}{1-r^{2n}}.$$

**Proof.** We have  $zg'(z) = g(z)p(z)$ ,  $p \in P_n(0)$ . So

$$\begin{aligned} \operatorname{Re} \frac{(zg'(z))'}{g'(z)} &\geq \operatorname{Re} \frac{zg'(z)}{g(z)} - \left| \frac{zp'(z)}{p(z)} \right| \\ &\geq \frac{1-r^n}{1+r^n} - \frac{2nr^n}{1-r^{2n}} = \frac{1-2(n+1)r^n+r^{2n}}{1-r^{2n}}, \end{aligned}$$

where we have used Lemma 2.4.

### 3. The Class $S^*(a, c)$

**Theorem 3.1.** *Let  $f \in S^*(a, c)$  and be given by*

$$f(z) = \sum_{n=0}^{\infty} a_{n+1} z^{n+1} \quad (a_1 = 1).$$

Then, for  $n \geq 1$ ,

$$|a_{n+1}| \leq \frac{(n+1)(c)_n}{(a)_n}.$$

This result is sharp with equality for the function  $f_0$ , where

$$L(a, c)f_0 = \frac{z}{(1-z)^2}.$$

The proof follows immediately from the well known coefficient result for the class  $S^*$  of starlike functions and the fact that  $f \in S^*(a, c)$ .

**Theorem 3.2.** *Let  $f \in S^*(a, c)$ , where  $a$  and  $c$  satisfy the conditions of Lemma 2.1. Then, for  $z \in E$ ,  $f$  is starlike and hence univalent.*

**Proof.** Since  $L(a, c)f \in S^*$ , we have

$$\operatorname{Re} \left[ \frac{z(\phi(a, c) * f)'}{\phi(a, c) * f} \right] = \operatorname{Re} \left[ \frac{\phi(a, c) * zf'}{\phi(a, c) * f} \right] > 0, \quad z \in E.$$

Now

$$\begin{aligned} \frac{zf'(z)}{f(z)} &= \frac{\phi(a, c, z) * zf'(z) * \phi(c, a, z)}{\phi(a, c, z) * f(z) * \phi(c, a, z)} \\ &= \frac{\phi(c, a, z) * \frac{\phi(a, c, z) * zf'(z)}{\phi(a, c, z) * f(z)} * (\phi(a, c, z) * f(z))}{\phi(c, a, z) * (\phi(a, c, z) * f(z))}. \end{aligned}$$

Since  $\phi(c, a, z)$  is convex by Lemma 2.1 and  $f \in S^*(a, c)$ , we can use Lemma 2.2 to conclude that  $f$  is starlike.

**Theorem 3.3.** (Covering Theorem). *Let  $f \in S^*(a, c)$  with  $a$  and  $c$  satisfying (2.1). Then the disc  $E$  is mapped onto a domain that contains the disc*

$$|\omega| < \frac{2(c+a)}{a}.$$

**Proof.** Let  $\omega_0$  be any complex number such that  $f(z) \neq \omega_0$  for  $z \in E$ .

Then

$$\frac{\omega_0 f(z)}{\omega_0 - f(z)} = z + \left(a_2 + \frac{1}{\omega_0}\right)z^2 + \dots$$

is univalent by Theorem 3.2, and hence

$$\left| a_2 + \frac{1}{\omega_0} \right| \leq 2.$$

Now using Theorem 3.1 for  $n = 2$ , we obtain the required result.

We now prove an inclusion result.

**Theorem 3.4.** *Let  $a \neq 0$ ,  $c$  and  $a$  be real and  $c > N(d)$ , where  $N(d)$  is defined as in (2.1). Then*

$$S^*(a, d) \subset S^*(a, c).$$

**Proof.** Let  $f \in S^*(a, d)$ . Then

$$\begin{aligned} \frac{z(\phi(a, c) * f)'}{\phi(a, c) * f} &= \frac{\phi(a, c) * zf'}{\phi(a, c) * f} \\ &= \frac{(\phi(a, d) * \phi(d, c)) * zf'}{(\phi(a, d) * \phi(d, c)) * f} \\ &= \frac{(\phi(d, c) * \left(\frac{\phi(a, d) * zf'}{\phi(a, d) * f}\right) (\phi(a, d) * f))}{\phi(d, c) * (\phi(a, d) * f)}. \end{aligned}$$

Since, by Lemma 2.1,  $\phi(d, c)$  is convex and  $f \in S^*(a, d)$ , we apply Lemma 2.2 to have the required result that  $f \in S^*(a, c)$ .

**Theorem 3.5.** *Let  $a \neq 0$  and  $c$  be real and satisfy  $c > N(a)$ , where  $N(a)$  is defined in the similar way of (2.1). Let  $\psi$  be a convex function in  $E$ . If  $f \in S^*(a, c)$  then  $\psi * f \in S^*(a, c)$ .*

**Proof.** Since

$$\frac{z[\phi(a, c) * (\psi * f)]'}{\phi(a, c) * (\psi * f)} = \frac{\psi * \left(\frac{\phi(a, c) * zf'}{\phi(a, c) * f}\right) (\phi(a, c) * f)}{\psi * (\phi(a, c) * f)},$$

the result follows immediately by using Lemma 2.2. This shows that the class  $S^*(a, c)$  is closed under convolution with convex functions.

The following is an application of Theorem 3.5.

**Theorem 3.6.** *Let  $f \in S^*(a, c)$  with  $a$  and  $c$  satisfying the conditions of Theorem 3.5. For  $0 < \lambda < 1$ , let*

$$F(z) = (1 - \lambda)f(z) + \lambda zf'(z). \quad (3.1)$$

Then  $F \in S^*(a, c)$  for  $|z| < r_0$ , where

$$r_0 = 1/[2\lambda + \sqrt{4\lambda^2 - 2\lambda + 1}]. \quad (3.2)$$

On the other hand, if  $F \in S^*(a, c)$ , then  $f \in S^*(a, c)$  for  $z \in E$ .

**Proof.** We can write (3.1) as

$$F(z) = (\psi * f)(z),$$

where

$$\begin{aligned} \psi(z) &= (1 - \lambda) \frac{z}{1 - z} + \lambda \frac{z}{(1 - z)^2}, \quad 0 < \lambda < 1 \\ &= z + \sum_{n=2}^{\infty} [1 + (n - 1)\lambda] z^n. \end{aligned}$$

The function  $\psi$  is convex for  $|z| < r_0$  where  $r_0$  is given by (3.2) and this radius is best possible. Thus, applying Theorem 3.5, we see that  $F \in S^*(a, c)$  for  $|z| < r_0$ .

Also, from (3.1), we have

$$f(z) = \left( \sum_{n=1}^{\infty} \frac{1}{1 + (n - 1)\lambda} z^n \right) * F(z).$$

Since

$$\sum_{n=1}^{\infty} \frac{1}{1 + (n - 1)\lambda} z^n$$

is convex, see [10], we obtain the required result that  $f \in S^*(a, c)$ .

For a function  $f \in A$ , we define the integral operator  $I_\beta$  by

$$I_\beta(f) = \frac{\beta + 1}{z^\beta} \int_0^z t^{\beta-1} f(t) dt. \quad (\beta > -1) \quad (3.3)$$

The operator  $I_\beta$ , when  $\beta \in N = \{1, 2, 3, \dots\}$  was introduced by Bernardi [1]. In particular  $I_1$  was studied earlier by Libera [4] and Livingston [5].

We prove the following.

**Theorem 3.7.** *Let  $f \in S^*(a, c)$  and let  $I_\beta(f)$  be defined by (3.3) with  $\beta \in N$ . Then, for  $z \in E$ ,*

$$\operatorname{Re} \left\{ \frac{z[L(a, c)I_\beta(f)]'}{L(a, c)I_\beta(f)} \right\} > \alpha,$$

where

$$\alpha = \frac{-(2\beta + 1) + \sqrt{4\beta^2 + 4\beta + 9}}{4}. \quad (3.4)$$

**Proof.** Let

$$\frac{z[L(a, c)I_\beta(f)]'}{L(a, c)I_\beta(f)} = (1 - \alpha)p(z) + \alpha, \quad (3.5)$$

with  $\alpha$  given by (3.4). We see that  $p$  is analytic in  $E$  and  $p(0) = 1$ . Differentiating both sides of (3.5) logarithmically we have

$$\left\{ \frac{z^2[L(a, c)I_\beta(f)]'' + z[L(a, c)I_\beta(f)]'}{z[L(a, c)I_\beta(f)]'} - \frac{z[L(a, c)I_\beta(f)]'}{L(a, c)I_\beta(f)} \right\} = \frac{(1 - \alpha)zp'(z)}{(1 - \alpha)p(z) + \alpha}. \quad (3.6)$$

We note that

$$z[L(a, c)I_\beta(f)]' = (\beta + 1)L(a, c)f(z) - \beta L(a, c)I_\beta(f). \quad (3.7)$$

From this it follows that

$$z^2[L(a, c)I_\beta(f)]'' = (\beta + 1)z[L(a, c)f(z)]' - \beta L(a, c)I_\beta(f). \quad (3.8)$$

Substituting (3.7) and (3.8) into (3.6) and simplifying we obtain

$$\frac{z[L(a, c)f(z)]'}{L(a, c)f(z)} = (1 - \alpha)p(z) + \alpha + \frac{(1 - \alpha)zp'(z)}{(1 - \alpha)p(z) + \alpha + \beta}.$$

Since  $f \in S^*(a, c)$ , we have

$$\operatorname{Re} \left[ (1 - \alpha)p(z) + \alpha + \frac{(1 - \alpha)zp'(z)}{(1 - \alpha)p(z) + \alpha + \beta} \right] > 0, \quad z \in E.$$

We can now form the functional  $\Phi(u, v)$  by choosing  $u = p(z)$ ,  $v = zp'(z)$ .

Thus

$$\Phi(u, v) = (1 - \alpha)u + \alpha + \frac{(1 - \alpha)v}{(1 - \alpha)u + (\alpha + \beta)}.$$

The first two conditions of Lemma 2.3 are clearly satisfied. We proceed to verify the condition (iii) as follows.

$$\operatorname{Re}[\Phi(iu_2, v_1)] = \alpha + \frac{(1 - \alpha)(\alpha + \beta)v_1}{(\alpha + \beta)^2 + (1 - \alpha)^2u_2^2}.$$



By putting  $v_1 \leq \frac{-(1+u_2^2)}{2}$ , we obtain

$$\begin{aligned} \operatorname{Re}[\Phi(iu_2, v_1)] &\leq \alpha - \frac{1}{2} \frac{(1-\alpha)(\alpha+\beta)(1+u_2^2)}{(\alpha+\beta)^2 + (1-\alpha)^2 u_2^2} \\ &= \frac{2\alpha(\alpha+\beta)^2 + 2\alpha(1-\alpha)^2 u_2^2 - (1-\alpha)(\alpha+\beta) - (1-\alpha)(\alpha+\beta)u_2^2}{2[(\alpha+\beta)^2 + (1-\alpha)^2 u_2^2]} \\ &= \frac{A + Bu_2^2}{2C}, \end{aligned}$$

where

$$\begin{aligned} A &= 2\alpha(\alpha+\beta)^2 - (1-\alpha)(\alpha+\beta), \\ B &= 2\alpha(1-\alpha)^2 - (1-\alpha)(\alpha+\beta), \\ C &= (\alpha+\beta)^2 + (1-\alpha)^2 u_2^2 > 0. \end{aligned}$$

We notice that  $\operatorname{Re}[\Phi(iu_2, v_1)] \leq 0$  if and only if  $A \leq 0$  and  $B \leq 0$  which means  $\operatorname{Re}(z) > 0$  in  $E$ .

From  $A \leq 0$ , we obtain  $\alpha$  as defined by (3.4) and  $B \leq 0$  implies that  $0 < \alpha < 1$ .

We note that, for  $\beta = 1$ , we have

$$\alpha = \frac{-3 + \sqrt{17}}{4}.$$

#### 4. Some Radii Problems

**Theorem 4.1.** *Let  $f \in S^*(n, \alpha)$ ,  $0 \leq \alpha < 1$  and let  $f$ , for  $\lambda \neq \frac{1}{2(1-\alpha)}$ , be defined as*

$$f(z) = (1-\lambda)F(z) + \lambda zF'(z), \quad z \in E. \tag{4.1}$$

Then  $f \in S^*(n, \alpha)$  for  $|z| < r_0$ , where

$$\left. \begin{aligned} r_0 &= \left\{ \frac{A + \sqrt{A^2 + B}}{B} \right\}^{\frac{1}{n}}, \\ A &= \lambda(\alpha - n - 1), B = 1 - 2\lambda + 2\alpha\lambda \end{aligned} \right\}. \tag{4.2}$$

*This result is best possible.*

**Proof.** We can write (4.1) as

$$f(z) = \lambda z^{2-\frac{1}{\lambda}} (z^{\frac{1}{\lambda}-1} F(z))',$$

and we obtain

$$F(z) = \frac{1}{\lambda} z^{1-\frac{1}{\lambda}} \int_0^z z^{\frac{1}{\lambda}-2} f(z) dz. \quad (4.3)$$

Now  $F \in S^*(n, \alpha)$  implies that  $\frac{zF'(z)}{F(z)} = p(z)$ ,  $p \in P_n(\alpha)$ . So, from (4.3), we have

$$p(z) \int_0^z z^{\frac{1}{\lambda}-2} f(z) dz = \left(1 - \frac{1}{\lambda}\right) \int_0^z z^{\frac{1}{\lambda}-2} f(z) dz + z^{\frac{1}{\lambda}-1} f(z). \quad (4.4)$$

Differentiating both sides of (4.4) and simplifying, we have

$$\frac{zf'(z)}{f(z)} = p(z) + \left( p'(z) \frac{\int_0^z z^{\frac{1}{\lambda}-2} f(z) dz}{z^{\frac{1}{\lambda}-2} f(z)} \right). \quad (4.5)$$

Since  $p \in P_n(\alpha)$ , there exists  $h \in P_n(0)$  such that

$$p(z) = (1 - \alpha)h(z) + \alpha. \quad (4.6)$$

Using (4.6), (4.5) can be written as

$$\frac{1}{(1 - \alpha)} \left\{ \frac{zf'(z)}{f(z)} - \alpha \right\} = h(z) + \left( zh'(z) \frac{\int_0^z z^{\frac{1}{\lambda}-2} f(z) dz}{z^{\frac{1}{\lambda}-1} f(z)} \right). \quad (4.7)$$

Now

$$\begin{aligned} \frac{z^{\frac{1}{\lambda}-1} f(z)}{\int_0^z z^{\frac{1}{\lambda}-2} f(z) dz} &= \frac{\lambda z (z^{\frac{1}{\lambda}-1} F(z))'}{\lambda (z^{\frac{1}{\lambda}-1} F(z))} \\ &= \frac{zF'(z)}{F(z)} + \frac{1}{\lambda} - 1 \\ &= (1 - \alpha)h(z) + \alpha + \frac{1}{\lambda} - 1. \end{aligned} \quad (4.8)$$

Hence, using Lemma 2.4, we obtain from (4.7) and (4.8),

$$\begin{aligned} \frac{1}{(1 - \alpha)} \operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} - \alpha \right\} &\geq \operatorname{Re} h(z) \left[ 1 - \frac{2nr^n}{(1 - r^{2n}) \left( \frac{1}{\lambda} + \left\{ \frac{1}{\lambda} - 2(1 - \alpha) \right\} r^n \right)} \right] \\ &= \operatorname{Re} h(z) \left[ \frac{(1 - r^n) \{ 1 + (1 - 2\lambda + 2\alpha\lambda)r^n \} - 2n\lambda r^n}{(1 - r^n) \{ 1 + (1 - 2\lambda + 2\alpha\lambda)r^n \}} \right]. \end{aligned}$$

The right hand side is positive for  $|z| < r_0$ , where  $r_0$  is given by (4.2) and this gives us the required result. This result is best possible as can be seen from the function

$$f_{\alpha, \lambda}(z) = (1 - \lambda)F_\alpha(z) + \lambda z F'_\alpha(z),$$

where

$$F_\alpha(z) = z(1 - z^n)^{\frac{(2\alpha-2)}{n}} \epsilon S^*(n, \alpha).$$

**Special Cases**

- (i) Let  $\lambda = \frac{1}{2}$ ,  $0 < \alpha < 1$ ,  $F \in S^*(1, \alpha)$ . Then  $f \in S^*(1, \alpha)$  for  $|z| < r = \{(\alpha + 2) + (\alpha^2 + 4)^{\frac{1}{2}}\} / 2\alpha$ . This result is proved in [9] for  $0 < \alpha \leq 1/2$ .
- (ii) With  $\alpha = 0$ ,  $\lambda \neq \frac{1}{2}$ , we have  $f \in S^*(n, 0)$  for  $|z| < r = 1 / \{(n + 1)\lambda + \sqrt{(n + 1)^2\lambda^2 + (1 - 2\lambda)}\}$ .

Using the same technique, we can prove the following results.

**Theorem 4.2.** *Let  $F \in C(n, \alpha)$ ,  $0 \leq \alpha < 1$ ,  $n \in \mathbb{N}$  and let, for  $\lambda \neq \frac{1}{2(1-\alpha)}$ ,  $f$  be defined by (4.1). Then  $f \in C(n, \alpha)$  for  $|z| < r_0$  where  $r_0$  is given by (4.2). This result is sharp.*

**Theorem 4.3.** *Let  $g \in S^*(n, \alpha)$  and  $\frac{zF'}{G} \in P_n(\alpha)$  for  $z \in E$ . Let, for  $\lambda \neq \frac{1}{2(1-\alpha)}$ ,  $f$  be defined by (4.1) and let*

$$g(z) = (1 - \lambda)G(z) + \lambda zG'(z). \tag{4.9}$$

*Then  $\frac{zf'}{g} \in P_n(\alpha)$  for  $|z| < r_0$ , where  $r_0$  is given by (4.2).*

This result is best possible. This can be seen by taking

$$F_\alpha(z) = G_\alpha(z) = z(1 - z)^{(2\alpha-2)/n}.$$

We now prove the following.

**Theorem 4.4.** *Let  $G \in S^*(n, 0)$  and  $\frac{(zF)'}{G'} \in P_n(\alpha)$  for  $0 \leq \alpha < 1$  and  $z \in E$ . Let, for  $\lambda > 0$ ,  $\lambda \neq 1/2$ ,  $f$  be defined by (4.1) and  $g$  be defined by (4.9). Then  $\frac{(zf')'}{g'} \in P_n(\alpha)$  for  $|z| < r_2$ , where  $r_2 = \min(r_0, r_1)$ , where  $r_0$  is given by (4.2) with  $\alpha = 0$  and*

$$r_1 = \left\{ \lambda(2n + 1) + \sqrt{\lambda^2(2n + 1)^2 - 2\lambda + 1} \right\}^{\frac{-1}{n}}. \tag{4.10}$$

**Proof.** We can write (4.1) as

$$F(z) = \frac{1}{\lambda} z^{1-\frac{1}{\lambda}} \int_0^z z^{\frac{1}{\lambda}-2} f(z) dz.$$

So

$$\begin{aligned} \frac{(zF'(z))'}{G'(z)} &= \frac{z^{\frac{1}{\lambda}} f'(z) - (\frac{1}{\lambda} - 1) \int_0^z z^{\frac{1}{\lambda}-1} f'(z) dz}{\int_0^z z^{\frac{1}{\lambda}-1} g'(z) dz} \\ &= (1 - \alpha)h(z) + \alpha, \quad h \in P_n(0), z \in E. \end{aligned}$$

Differentiating and simplifying, we obtain

$$Re \left[ \frac{(zf'(z))'}{g'(z)} - \alpha \right] \geq (1 - \alpha)Reh(z) \left[ 1 - \frac{2nr^n}{1 - r^{2n}} \left| \frac{\int_0^z z^{\frac{1}{\lambda}-1} g'(z) dz}{z^{\frac{1}{\lambda}} g'(z)} \right| \right], \quad (4.11)$$

where we have used Lemma 2.4. Now

$$\begin{aligned} \frac{z^{\frac{1}{\lambda}} g'(z)}{\int_0^z z^{\frac{1}{\lambda}-1} g'(z) dz} &= \frac{\frac{1}{\lambda} G'(z) + zG''(z)}{G'(z)} \\ &= \left(\frac{1}{\lambda} - 1\right) + \frac{(zG'(z))'}{G'(z)}. \end{aligned} \quad (4.12)$$

From (4.11), (4.12) and Lemma 2.5, we have

$$\begin{aligned} &\frac{1}{(1 - \alpha)} Re \left[ \frac{(zf'(z))'}{g'(z)} - \alpha \right] \\ &\geq Reh(z) \left[ 1 - \frac{2nr^n}{(1 - r^{2n}) \left\{ \frac{1}{\lambda} - 2(n+1)r^n + (2 - \frac{1}{\lambda})r^{2n} \right\}} \right] \\ &= Reh(z) \left[ \frac{1 - 2\lambda(2n+1)r^n + (2\lambda - 1)r^{2n}}{1 - 2\lambda(n+1)r^n + (2\lambda - 1)r^{2n}} \right]. \end{aligned}$$

The right hand side is positive for  $|z| < r_1$ , where  $r_1$  is given by (4.10). We note that, for  $n = 1$ ,  $\lambda \neq \frac{1}{2}$ ,

$$r_1 = 1/\{3\lambda + \sqrt{9\lambda^2 - 2\lambda + 1}\}.$$

The restriction on  $\lambda$  in Theorem 4.1 can be removed for the case  $n = 1$ , and we prove the result as follows.

**Theorem 4.5.** Let  $F \in S^*(1, \alpha)$ ,  $0 \leq \alpha < 1$  and for  $\lambda > 0$ , let  $f$  be defined by (4.1). Then  $f \in S^*(1, \alpha)$  for  $|z| < R$  where

$$R = \frac{|\mu + 1|}{[A + (A^2 - |\mu^2 - 1|^2)^{\frac{1}{2}}]^{\frac{1}{2}}}, \quad (4.13)$$

$$\mu = \frac{\alpha\lambda - \lambda + 1}{\lambda(1 - \alpha)}, \quad s = \frac{1}{(1 - \alpha)}$$

and

$$A = \{2(s + 1)^2 + |\mu|^2 - 1\}.$$

This result is best possible.

**Proof.** With  $\frac{zF'(z)}{F(z)} = (1 - \alpha)h(z) + \alpha$ ,  $h \in P_1(0)$ , we proceed on the same lines as before and have

$$\begin{aligned} \frac{1}{(1 - \alpha)} \operatorname{Re} \left[ \frac{zf'(z)}{f(z)} - \alpha \right] &= h(z) + \frac{zh'(z)}{(1 - \alpha)h(z) + (\alpha + \frac{1}{\lambda} - 1)} \\ &= h(z) + \frac{(\frac{1}{1 - \alpha})zh'(z)}{\frac{\alpha\lambda - \lambda + 1}{\lambda(1 - \alpha)} + h(z)}. \end{aligned}$$

Now Ruscheweyh and Singh [12] have shown that, for  $h \in P_1(0)$ ,  $s > 0$ ,  $\mu \neq -1$  (complex),

$$\operatorname{Re} \left[ h(z) - \frac{szh'(z)}{h(z) + \mu} \right] > 0,$$

for  $|z| < R$ , where  $R$  is given by (4.13) and this result is best possible. Taking  $s = \frac{1}{1 - \alpha}$  and  $\mu = \frac{\alpha\lambda - \lambda + 1}{\lambda(1 - \alpha)}$ , we obtained the required result.

## References

- [1] S. D. Bernardi, *Convex and starlike univalent functions*, Trans. Amer. Math. Soc., 135(1969), 429-446.
- [2] S. D. Bernardi, *New distortion theorems for functions of positive real part and application to the partial sums of univalent convex functions*, Proc. Amer. Math. Soc., 45(1975), 113-118.
- [3] B. C. Carlson and D. B. Shaffer, *Starlike and prestarlike hypergeometric functions*, SIAM J. Math. Anal., 15(1984), 737-745.
- [4] R. J. Libera, *Some classes of regular univalent functions*, Proc. Amer. Math. Soc., 16(1965), 753-758.
- [5] A. E. Livingston, *On the radius of univalence of certain analytic functions*, Proc. Amer. Math. Soc., 17(1966), 352-357.
- [6] T. H. MacGregor, *The radius of univalence of certain analytic functions*, Proc. Amer. Math. Soc., 14(1968), 514-520.

- [7] S. S. Miller, *Differential inequalities and Carathéodory functions*, Bull. Amer. Math. Soc., 81(1975), 79-81.
- [8] S. S. Miller and P. T. Mocanu, *Univalence of Gaussian and confluent hypergeometric functions*, Proc. Amer. Math. Soc., 110(1990), 333-342.
- [9] K. S. Padmanabhan, *On the radius of univalence of certain classes of analytic functions*, J. Lond. Math. Soc., 1:2(1969), 225-231.
- [10] S. Ruscheweyh, *New criteria for univalent functions*, Proc. Amer. Math. Soc., 48(1975), 109-115.
- [11] S. Ruscheweyh and T. Shiel-Small, *Hadamard product of schlicht functions and the Polya-Schoenberg conjecture*, Comment. Math. Helv., 48(1973), 119-135.
- [12] S. Ruscheweyh and V. Singh, *On certain extremal problems for functions with positive real part*, Proc. Amer. Math. Soc., 61 (1976), 329-334.
- [13] G. M. Shah, *On the univalence of some analytic functions*, Pacific J. Math., 43 (1972), 239-250.

Mathematics Department, College of Science, King Saud University, P.O. Box 2455, Riyadh 11451, Saudi Arabia.